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31- I deeply … that Mehran was able to manage the shop on his own, but he didn’t have much 

confidence in himself. 

1) am believing 2) believed 

3) will believe 4) was believing 

32- I … she couldn’t answer my call last night because she … a bath. 

1) am thinking – had 2) think – was having 

3) am thinking – has 4) think – is having

33- I don’t know who produced the film, but I know that it was … by Andrew Bernard. 

1) expressed 2) attracted

3) narrated 4) noticed 

34- The international singer wants to sing the best known and … the most popular of her songs on 5

June, 2021. 

1) suitably 2) unfortunately 

3) strongly 4) probably 

35- Traveling around the world by bike has recently become a new form of … for a lot of young 

people. 

1) destination 2) agent 

3) emphasis 4) entertainment 

36- Making … changes in your plans often results in a complete change of your actions and choices.

1) sudden 2) ancient 

3) domestic 4) hospitable 

PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer sheet.

The Value of 
Knowledge

Listening and 

Speaking
Traveling the World

Reading
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PART B: Reading Comprehension
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct 
choice on your answer sheet.

Where did you go yesterday? Did you hear music at any of those places? There is a good chance 

that you did. Today, most stores and restaurants play music. You might even hear music in an 

office or on a farm.

Scientists believe that music affects the way people behave. According to some scientists, the 

sound of Western classical music (Mozart and Bach) makes people feel richer. When a restaurant 

plays classical music, people spend more money on food and drinks. When the restaurant plays 

modern music, people spend less money. With no background music, people spend even less.

Scientists also believe that loud, fast music makes people eat faster. People actually chew their 

food faster when the music gets faster. Some restaurants play fast music during their busy hours. 

This gets people to eat faster and leave quickly. Restaurants can make more money this way.

Some scientists think that music makes you think and learn better. They say that music helps 

students to be more alert. It is true that people learn better when they are relaxed. In addition, 

listening to music can help you relax. The next time you hear music somewhere, be careful

because it might change the way you behave.

37- What is the main idea of the passage? 

1) Music might make people learn better.

2) Loud, fast music makes people eat faster.

3) Music affects the way people behave.

4) Music makes people spend more money on food and drinks.

38- Which one is NOT true, according to the passage?

1) When restaurants play classical music, people eat faster and leave quickly.

2) Music can affect how quickly people eat. 

3) Mozart and Bach wrote classical music.

4) These days, most stores and restaurants play music.

39- The underlined word “their” in paragraph 3 refers to … .

1) restaurants 2) people

3) scientists 4) hours 

40- Which of the following statements is TRUE, according to the passage?

1) All scientists believe that music makes people think better.

2) Some scientists believe that music makes people less active.

3) It is a fact that people can learn better when they feel relaxed. 

4) Scientists think that students should not listen to music at all. 
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دیدهت ، تینما لوا سرد 

ارچ-1 ناسنا ياه نیتسخن ، اهراغ ار هب ناونع نیلوا لحم یگدنز دوخ باختنا دندرک ؟

يارب رد ناما ندنام زا تارطخ یعیبط و امرس و امرگ و هلمح تاناویح یشحو و...

2- ارچ رد هتشذگ مدرم کی اتسور ای کی رهش رد هعلق يا گرزب یگدنز یم دندرک ؟ ارچ

نانآ فارطا رهش دوخ جربراوید و وراب یم ؟دندیشک يارب عافد زا دوخ رد لباقم نانمشد

رگا-3 داجیا تینما يارب لزنم ینوکسم نات هب امش راذگاو دوش،ياهراکهار يداهنشیپ دوخ

ار هئارا دیهد .1- يارب طایح ای هرجنپ اه زا هدرن تهج تظفاحم هدافتسا مییامن

2- زا رد دض تقرس هدافتسا مییامن 3- زا ملاس ندوب هلول ياه زاگ نئمطم میوش

نیبرود-4 هتسبرادم بصن مینک و...

يارب-4 داجیا تینما رد هسردم هچ یتامادقا ار دیاب ماجنا داد ؟1- رد يدورو هسردم دیاب

هشیمه نابهگن هتشاد دشاب 2- يور هشیش ياه گرزب بسچرب مینزب

3- داوم ییایمیش و لاعتشا از ار لخاد هسفق ياه لفق راد هگن يراد مینک و...

روضح هعماج  رد  يرتنلاک اه  فلا-5 رگا سیلپ ییامنهار و یگدننار و سیلپ یماظتنا ای 

هتشادن دنشاب، هچ یتاقافتا ار شیپ ینیب یم ؟دینک

تاررقم ییامنهار و یگدننار تیاعر یمن دوش و ثعاب داجیا کیفارت یم دوش -ثعاب جره و

دوش یم  مدرم  نیب  رد  ف  جرم و لاتخا

رگا(ب يزور ياهورین حلسم روشک زا ياهزرم ،یبآ یکشخ و ییاوه نامروشک تبقارم دننکن

هچ یتاقافتا ار شیپ ینیب یم دینک ؟

نانمشد هب رکف زواجت هب روشک ام یم دنتفا و تینما روشک ام زا نیب یم دور.

هداس-6 نیرت فیرعت تینما تسیچ ؟ تینما ینعی رود ندوب زا یتارطخ هک هیلع عفانم

،نید ،گنهرف تاداقتعا و ...) ام دوجو و شزرا ياه يونعم  يدام(،ناج ،لام نیمزرس و ... 

دراد.

7- رگا رد روشک تینما رارقرب ،دشاب هچ راثآ یتبثم یپرد دهاوخ ؟تشاد تینما بجوم

يرارقرب شمارآ مدرم و تفرشیپ يداصتقا روشک یم دوش. و نینچمه ثعاب شیازفا تردق

یماظن رد ربارب نانمشد زین یم دوش.




